(mtraclass  correlation)

testt

i_score
ttechnig
texperin
tfaculty
tgraduat

(multilevel mocel)



Fl

F2
F3
F4
F5
Fo
Fi

F8

mean
SD.
Max
Mm

Shp

Int

b slp

b_int

Skewness

Kurtosis

RMSEA

df

46
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x 7 df

GFl (Goodness of Fit Index)

AGF (Adjusted
Goodness of Fit Index)

NNFI non-normed fit index

CFI comparative fit index

Joreskorg & Sorbom (aese)  Bollen (19s9)

0L (p>.01)
(%o2cl)
2.00-5.00
200 RMSEA 05 (Joreskorg. 1993)
0.9
Duncan et a. (1997)
2 NNFI- CFl
2 NNFI - CF
NNFI - CH 20

(Bentler, 1905 2

Duncan et al. (1997)
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(analysis of variance: ANOVA)

123 4
9 8
L23 4 1957, 219, 239 2261
162, 854,955 942 ' ,
1-4 3894, 3889, 4265 4166
4 3

1 083 014, 053 052
097, 059, 059 053

(chi-square goodness of fit)
4 (testl, test2, test3 testd)
177300, 116358, 157312 170566 (df = 3)

2 (Anderson & Black, 1998)

Anderson & Black (1998)
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8 1
2 2 3 4
40.77 843 2.05 -1.25
(nommai  scale) (dummy data)
! (ratio scale)
45 (X =045 SD. = 050)
2348 13.33 -0.94
-0.63 61
(X =061 SD. = 049 o)

(X=092 SD. = 028



123 4

mean  SD. mm  max skewness kurtosis  CV

Techmg 045 030
Texpenn 2348 133 0 40 063 0% 5677

Taculty 061 049

Tgraduat 092 028
testl 1957 762 5 a7 097 083  3BY
test2 2% 854 5 18 059 014 3889
test3 239 9% 5 a7 059 053 4265
testd 261 R 5 18 053 052 4166
g score 4077 843 1 55 -1.25 205 2068
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10

**p < .01

.01

10

0

df

364

1092

170830.80

20165.135

2143.008

22565.077

4
(one-way ANOVA)

4

MS F
170830.80 3083.660**
55.399

714.336 34.569**

20.664

(F-test)

0

57

.000



df ss MS F P
1 x 2 1 2082.261 2082.261 60.656* .000
Error 364 12495.780 34.329
2 x 3 1 65.175 65.175 1.987 160
Error 364 11942.780 32.809
3 x 4 1 18.734 18.734 435 510
Error 364 15682.529 43.084
< .0
2
21
2
2
211
12

TEST1 TEST2 TEST3 TEST4  1Q_SCORE
TESTL 1.000

TEST2 0.757% 1.000
TEST3 0.738* 0.831* 1.000
TEST4 0.668** 0.787+ 0.799* 1000

1Q_SCORE 0.292* 0.374* 0339  0.358* 1.000
p<0l, =365
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2

0 0.292-0831
(testl 1 test?, test3
testd) 0.668-0.831
o (iq_score)
; 2 (test2)
0.374 (iq_score)
4,3 1 (testd test3 testl )
( 1 =03
/)
384, df =4 P=044% RVEEA 0[0000)
(€3) Q%A (AGH)

0965 yVdf 096 NN\A 100 CH 1000

2200 (E =038 420 (E =047
19834 (£ = 0459
2799 (E = 13%) : 140914
a7
(E =360
123 4 Q1138
1433
1 1
1 1
1 0
2 2
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3 3
3 3 1.358
4
4 4 4
1433

0.78*
¥’ = 3.864
df=4
p = 0.42466
Y ’/df = 0.966

4.270* 27.949* GFI =0.994

AGFI = 0.986
RMSEA = 0.0000

NNFI = 1.000
CFI =1.000

212
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TFACULTY  TGRADUAT
TFACULTY 1,000
TGRADUAT  0.384* 1.000
TEXPERIN -0.060 10,081
TTECHNIQ -0.252% -0.335%
<O, =1
13
3
(ttechma)
(ttechniq) (tfaculty)
2
3 0.252-0.384
(1
(X2 0354 df = 1 P = 055188
0.0000 (GFI)
(AGF) 0995 xadf 035
1.000
( 14)
on 2
(tgraduat)

-0.502

61

TEXPERIN TTECHNIQ
1000
0.014 1,000
(0
(tfaculty)
(tgraduat)
(tgraduat)
0.147
EQS
(RMSEA)
1.000
NNFI 1037  CFI
(tfaculty)
-0.148



62

05 (tgraduat)
(ttechnig) oL
! -3.844
(tfaculty)
(tgraduat)

0L (0.220)

(indirect effect)

(tfaculty)
0 -0.110

-0.148**

7] R ¥ ?| TEATEC

TEA_FACU -0.001
U2, 0.502**
TEALEXP |¢— TEA-GRAD

-3.844

12

14
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tgraduat texperin ttechmg

effect SE T Effect SE t effect SE t
tfaculty DE 0.220%* 0.028 7.934 - - - ° 0.054 -2.734
IE - - - -0.845 0.559 -1.513 -0.110%* 0.025 -4.399

TE 0.220 0.028 7.934 -0.845 - - -0.258 - -

R 0.384 - - -0.060 - - -0.252 - -

SR+JE 0.164 - - -0.785 - - -0.006 - -
tgraduat DE - - - -3.844 2.495 -1.541 -0.502** 0.095 -5.299
IE - - - - - - 0.002 0.007 0.346

TE - - - -3.844 2.495 -1.541 -0.500 - -

R - - - -0.081 - - -0.355 - -

SR+JE - - - -3.763 - - -0.145 - -
texperin DE - - - - - - -0.001 0. 2 -0.355

IE - - - - - - - - -

TE - - L { Y - - - -

R - - - - - - 0.014 - -

SR+JE - - - - - - 0.015 - -

R2 0.147 0.006 0.131

**p<.01, DE = , IE = , TE , SR+JE =



22

15

64

(intraclass correlation)

(multiple group stretagy)

(Duncan et al, 1997
il

539.17

5
00
0.84
0.16
0.08
046

(intraclass correlation)
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(multiple group strategy)

- < (01 (GFI) 0.964

(AGF) 0876 Xa 4158
0078 NNFI 0927 Fl 0.965

CH
231
model)
af =8 - = 011312 (GFI) 0.983

(AGF) 098 x20f 16

0049 NNFI 0993 CH 0.9%
2.288

0.989 13657
13
1312, 1467
3
3 4
0129 052

(ig_score)

01 056 (SE = .008)

65

(multilevel - model)

91487, af = 22
(RMSEA)
NNFI
2
(within-le
(X2 12.963
(RMSEA)
0.852
4 0 1
1 2
01 SE

(intercept)

(slope)



0482 (SE = 01)
i

ig_score

M, = 2.288

M, = 19.657

16

(within - level model)

66



iq_score

Fl

F2

16
test
SE
DE
IE 0.482%* 0.011
TE 0.482
R 0.292
SR+JE 0.190
DE
1E
TE
SR+JE
DE  (1.000)
E
TE  (1.000)
SR+JE
R 0851

**p<.01 1DE =

43784 0.538**
0.538
0.374
0.164
(1.000)

(1.000)

1TE

test?2
SE

0.012

0.850

45536  0.559**
0.559
0.339
0.220

1.372%*

1372

(1.000)

1. 0)

1SR+JE =

test3
SE

0.013

0.129

(within-level model)

43704  0.565**
0.565
0.358
0.207

10.669  1.467*

1467

(1. 0)

1.0 )

test4

SE

0.013

0.143

0.815

FI (w_slp)
t SE
0.056*  0.008
42.279
0.056
10.250

0023

F2 (_int)
SE t

7230 0482 0011 43784

0.482

0.274
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232 (between-level
moclel)

32780, af = 12. p = 000105 (GFI) 0973

(AGF) 089  waar 27
RMSEA) 0082

P P
(AGFI) 09
(GF) 09

EQS

bentler-bonett nonnormed fit index 0942 CF| 0940
123 4 0
1L 9% 1458 ja—
05 3 ]}
4 (SE =089 0203 4 )
34 0533 (SE = 0239)
05 1454 (E = 0284) 0
1 2



17 (between-level inode!)

ttechniq texperin tgraduat testl test2 test3
Effect SE t effect SE t effect SE t effect SE t effect SE t effect SE t
ttechniq DE - - - - - - - - - - - - - - - - - -
IE - - - - - - - - - 1.994 1.252 1.592 1.156 1.300 1.201 1.763 1.238 1.424
TE - - - - - - - - - 1.994 - - 1.156 - - 1.763 -
R - - - - - - - - P 0.152 - - 0.026 - - 0.026 - -
SR+JE - - - - - - - A = 1.842 - - 1.130 - - 1.737 - -
texperin DE - - - - - - - y N - - - - - - - - -
IE - - - - - - - A \ -0.056 0.043 -1.301 -0.046 0.045 -1.023 -0.051 0.043 -1.191
TE - - - - - - - 3 \ -0.056 - - -0.046 - - -0.051 - -
R - - - - - - - & 3 -0.208 - - -0.207 - - -0.185 -
SR+JE - - - - - - 4 = -0.152 - - -0.161 - - -1.34 -
tfacu |ty DE -0.169** 0.065 -2.617 -1.321 1.778 -0.743 0.202** 0.032 6.352 - - - - - - - - -
IE -0.092* 0.039 -2.337 - - - 3 1 ¥ -1.492 1.304 -1.144 1.269 1.405 0.904 -0.018 1.545 -0.012
TE -0.261 - - -1.321 - - 0.202 = ~ -1.492 - - 1.269 - - -0.018 -
R -0.252 - - -0.060 - - 0.384 - - -0.101 - - 0.073 - - 0.007 - -
SR+JE -0. 9 - -1.279 - - 0.182 - - -1.391 - - 1.196 - - -0.025 - -

**p<.01 1DE = 1IE = 1TE = , SR+JE = 1



()

ttechmq texpenn tgraduat testl test2 test3
effect SE t effect SE t effect SE t effect SE t effect SE t effect SE t
Tgiaduat DE -0.456** 0.118 -3.870 - - - - - - - - - - - - -
T
TE -0.456 - - - - - - - - - - - - - - - -
R -0.335 - - - - - - - y - - - - - - - - -
SR+JE -0.121 - - - - - - - - - - - - - - - - -
iq_score DE - - - - - - - Z - - - - - - - - -
IE - - - - - - - f N 0.562** 0.050 11.179  0.594** 0.052 11.354  0.624**  0.051 12.196
TE - - - - - - - y 5 0.562 - - 0.594 - - 0.624 -
R - - - - - - - - 0.292 - - 0.374 - - 0.339 - -
SR+JE - - - - - - £ = 0.270 - - 0.220 - - 0.285 - -
Fl DE - - - - - - - - - - - - (1.000) - - 1935 0.9 2.151
( _slp) IE - - - - - - - - - - - - - -
TE - - - - - - - N P 5 - - (2.000) - - 1.935 -
SR+JE - - - - - - - - - - - - - - - - - -

**p<.01 1DE = 1IE = 1TE = . SR+JE =



17( )

F2 DE
( JInt) IE

TE

SR+JE

F3 DE
TE

SR+JE

F4 DE
TE

SR+JE

**p<.01 , DE =

effect

ttechmgq

SE

t

effect

, TE -

texpenn

SE

t effect

1SR+JE

tgraduat

SE

t

effect

(1.000)

(1.000)

(5.760)

(5.760)

(5.760)

(5.760)

testl

SE

effect

(1.0)

(1.0)

(5.760)

(5.760)

(5.760)

(5.760)

test2

SE

t

effect

(1.0 )

(1.0 )

(5.760)

(5.760)

(5.760)

(5.760)

test3

SE



()

F5 DE

TE

SR+JE

F6 DE

TE

SR+JE

**p<.01 1DE =

ttechmq

Effect

1lIE =

SE

effect

1TE =

texperm

SE

t effect

1SR+JE =

tgraduat

SE

effect

(5.760)

(5.760)

(5.760)

(5.760)

testl

SE

effect

(5.760)

(5.760)

(5.760)

(5.760)

test2

SE

t

effect

(5.760)

(5.760)

(5.760)

(5.760)

test3

SE



17 ()

test4

Effect SE t

ttechmq DE - - -
IE 1.374 1.448 0.930

TE 1.374 - -

R -0.046 - -

SR+JE 1.420 - -

texperm DE - - -
IE -0.041 0.050 -0.817

TE -0.041 - -

R -0.200 - -

SR+JE -0.159 - -

tfaculty DE - - -
IE 2635 1565 1.684

TE 2.635 - - -

R 0.129 - -

SR+JE 2.506 - -

**p<.01 1DE = 11E =

effect

F1 ( _slp)

SE

F2 ( _mt)

t effect

, SR+JE =

SE

effect

0.346

0.346

-0.010

-0.010

-0.259

-0.259

F3

SE

0.217

0.008

0.226

T

1.592

-1.301

-1.144

effect

0.271

0.271

-0.008

-0.008

0.220

0.220

F4

SE

0.226

0.008

0.244

1.201

-1.023

0.904

F5
effect SE
0.306 0.215
0.306 -
-0. 9 0.7
-0. 9 -
-0. 3 0.268
-0. 3 -



()

test4 F1 ( _Ip) F2 ( _int) F7 (b_slp) F8 (b_int)

effect SE t effect SE t effect SE t effect. SE t effect SE t

tgraduat DE - - - - - - - - - - - - - B
IE -4.867 2.536 -1.919 - - - - 0.034 0.056 0.610 -0.158 0.115 -1.376

TE -4.867 - - - - - - - - 0.034 - - -0.158 - -

SR+JE : - - - - - = - - - - - - - -

ig_score DE - - - 0.032 0.020 1561  0.562** 0.036 15.809 - - - - - -

IE 0.609**  0.058 10.549 - - - - - - - - - - - -

TE 0.609 - - 0.032 - B 0.562 % - - - - - - -

SR+JE - - - - - - - - - - - -

Fl DE 1.458* 0.214  6.823 - - - : z - - . . ; ; ;

( _1Ip) IE . - - - - - - - - . . - - . .

TE 1.458- - - - - - - - - - . . . .

SR+JE - - - - - - - - - - - - - N -

**p<.01 , DE = 1IE = , TE

1SR+JE = 1



()

F2 DE
( _mt) IE

TE

SR+JE

F5 DE
TE

SR+JE

F6 DE
TE

SR+JE

**p<.01 1DE =

test4
effect SE

(1.000) -

(1.0) -

(5.760) ;

(760) -

(5.760) -

(760) -

1IE =

effect

1TE

F3

SE

t effect

, SR+JE =

Fa4

SE

effect

F5

SE

effect

F6

SE

effect

F5

SE

en



()

F7 DE
(b_slp) IE

TE

SR+JE
F8 DE
(b_int) IE

TE

P

SR+JE

*p<.01 , DE =

F3

effect SE

( .000) ;

(1.0) -

1lIE =

effect

(1.000)

(1.000)

(1.000)

(1.000)

1TE =

F4

SE

effect

0.534*

0.534

(1.000)

(1.000)

1SR+JE =

F5
SE t effect

0.233 2295  1.494*

- - 1.494

- 2 (1.000)

y - (1.000)

F6

SE

0.284

t

5.267

effect

F7 (b_slp)

SE

effect

F8 (b_m)

SE



17( )

ttechmq

texpenn

tfaculty

**p<,01 1DE = JIE =

DE

TE

SR+JE

DE

TE

SR+JE

DE

TE

SR+JE

ITE =

effect

0.306

0.306

0.457

0.457

F6
SE t
0.215 1.424
0.9 -0.817
0.272 1.684
LSR+JE -

effect

-0.075

-0.075

0. 2

0.002

0.489**

-0.010

0.479

F7 (b_slp)
SE

0.085

0.003

0.123

0.051

t

-0.885

0.615

3.977

-0.196

effect

-0.346*

-0.346

0.010

0.010

0.073

-0.186

-0.113

F8 (b_mt)
SE T

0.154 -2.029

0.173 -0.423

0.105 -1.772
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17 (tfaculty)

(tgraduat) (ttechmq)
0L -0.169 (SE = 0065  -0.456
(SE=0.118)
(tfaculty)
(b slp) (1 0489
(SE=0.123)
(ttechma)
0% -0.346 (SE=0.1%)
( Int) 01 0562 (SE = 0.036)
14
(tgraduat)
(texperin) (tfaculty)
(tgraduat)

16



-1.321

tea_facu

79

tea_grad

14

ig_score

(between - level model)
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Testl

Test2

re Test3
%

Test4

Fl

( _lp)

F2

( _int)

R2

FI ( _slp)

F2 (_int)

18

o 2

R2

Ig_score

R2

0.851

0.850

0.857

0.815

0.023

0.274

R2

0.872

0.897

0.923

1.000

0.009

0.999

01

80

R2

0.997

0.997

0.999

0.827

0.011

0.353
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19 (1
R?
Ft
F7 F8 Texperi  Ttechm
Tfaculty Tgraduat
(b_slp) (b_int) q
F7( _slp) - - D - - 0471 0.602
F8 (_mt) : : : : : : 0.239 0.989
Tfaculty - - - - - - 0.000 0.000
s Tgraduat - - D : - - 0.135 0.135
OO
% Texperm - - - - - - 0.002 0.002
Ttechmgq - - D D - - 0.116 0.116
F3 - - - - - - 0.938 0.235
F4 - - - - - - 0.885 0.238
F5 - - - - - - 0.999 0.238
F6 - - - - - 0.713 0.815
D= =
19 01
4
i ] Il
4 R2
4 R2

R2



R = 0244, -0238
0,05

)

82
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